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Complete the series,
81,9, 64,8, (...), 12
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In which of the fﬁilms:'ing stutes is Indian Railways planning 10 ser up a metro and raid
coach factory as on Febroary 20182
(A Maharashrra ® Guara T Madhyva Pradesh ¥ Assar
Who among the following has won the first gold medal of Khelo India ggues in 1500 m on
31 January 20187
(A} Dutee Chand (B! Scema Pumia Annl Dipa Kormaka 3 g R
Whete do the rivers Mahanadi, Godavari, Krishna and Cauvery 1w

(A) Bav of Bengal (1% Indian Ocean

0 Arabuan & Yy Riack Sea

was nained as-

{(A) INS Kalvan {(B) INS Karan, 13 INS Sindharashirs
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again turns left and walks 25 m. How far is s}
(A T0m B) 35m

Aravind said, *This girl ia the wifc of t
to the girl?

n 1)) e

n of my mother.” Tow 15 Aravind related

{A\) Father ) Grandfalger i1 Hushand (D Vatherin-law
11, When was Bal Gangadhar Til
(A) 23 July 1846 ®) AJuly 1856 () 23 July 18066 D) 23 July 1876
12. Who among the followin, ¢ the “Poverty and the UN-British rule in India"?
(A) Bankim Chandra  (B) Dadabhai Naoroji  (€) R.C. Dun {13) Wipin Chandrapal
Chattopadhyay
13. Rohit is eighteenth from the right end in a row of 50 boys. What is his position from the left
end? )
(A) 32 B 33 () M D) 35
14, Which acid is produced when milk gets sour?
(A) Carboxylic acid (@) Tartanc acid (C) Tactic acid (D Sulphunc acid
15. Who is also known as the 'Flying Sikh of India'?

16.

17

18,

(A) Milkha Singh (B) Joginder Singh (C) Apt Pal Singh (D) Mohinder Singh

Which of the following Articles deals with the grants from the Union to certain States?
(A) Artcle 273 (B) Arucle 275 (C) Aricle 270 (D) Article 280

A man walks 5 km towards south and then marna to the right. After walking 3 km, he tums
left and walks 5 km. Now, in which direction is he from the starting poine?

(A) West (B) South (C) North-cast D) South west
Ifin a cenain code, 'LIGHT' is written as 'GILTH', how is "RAINY" written in that code? o
A) IARYN (B) ARINY (C) NAIRY (D) RINAY ;;c
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With which of the following sports is the term 'Butterfly stroke' associated?

A\ Weesthing

By Tenms

(C5 Valleyball

I Swimiming

Who among the following had founded the first women university in India?

(A J. B Kripalamt

By Saropm Nadu

o l) }\ }\-11'..

I Sucheta E‘x.!§|‘-§va'

21, Which of the following is also known as the “August Kranti” in Indian history?
{A) Swadeshy (B Revolt of 1837 ) Quit India (D} Dol Chialo
Movement Muverent
22, ', 'Q" and 'R’ are sisters, '$' is brother of "I, and 'T' is daughter of 'Q". How is 'P'
( o-% related to 'S'?
3 Je (A) Sister B Cuousin {7 Nieee Dy Aunt
%
23, What is the expansion of MAC?
(A} Mass Access () Media Aecess 73 Mass Access D) Media Avcew
{ontrol Control ' Cartage Carriagy
; (c‘; v Dircctions (Q. No. 24 - 25): Read the following information carefully and answer the
e s A questions given below,
(o A e G S
L o ’\.\‘- ™ Eight students )", "K', 'L', 'M", 'N*, 'O, 'P' and 'Q' are sitging around a circular table fucing

& { the center for a meeting. 'J' is second to the right of "P{who is third to the right of 'K’
"M' is second to the left of 'O’ who is sitting between g 1. 'L is nota neighbour of 'K

or .i !'1
24. Who is third to the right of 'P'?
7% ®) ] ) )N
25. Who is to the immediate left of 'L'? @
L ® © Q-l
| PART - A ?- X Knowledge)

1. bdé doorm ad) ord) EDDYod. O

&) D> @) (€) ara
2. ¥irojomads gord u&iﬁ wod?

¢A) Swowan a3y «) 88 9o
3. #08 wdyd o8 Dpdo GADIH BovosrR)y ArdRI0B?

o : Ardigey i :?
(xjasb B) Sogcw

4, & BH8% gy Sabed,
(4144 S 96 ) 100

81,9, 64,8, (...), 12
&) 97
©) dyso 20186" wrod pd O "‘3“’ 2of, p& Do ¥oymdo JuPeryud wrdPod?
7 am-a (Bf roesod () Doagay ) eb"-)o
&) w038 31,20180 $° wodair §d¢’ 1500 &' Hod" dachr FD By Dodo P Bocrda?
(A 6050 ol AB). Har Pdoir () 83 gomyed
wotd
7. 88, Herdd, hdr, w30 Jd)d voddporan?
(M worrvarde . (B) bwwman?o (© oam:-mnqo (B) Ay davgo
8) wa30 31, 20188 mugdto 353 3,05 2ard §d nerodprlod Hood?
E (&) INS gex0 (BY INS sorod (C) INS a0

«€) ony

(1] ALoo

('6)&:»&3:0-6

@) INS bomu"ﬁ



020 03 wotd Aok OF 3y DM 2505 AAD; i ddadayd aon 100 HEDS. 8D WO
Jeadiwd 208 2500 AAD0A. U 93 Bet) Med Jog ardod’ asy A%
A 0D 35 Do £ by i S

[ € ?‘ e
10 000e8 Ad@ & vlran, 4r U Dawded oy v varjond ©0dodth ) Mowede 3
Doed?

{‘ +

JA) Oo% ) oo 1 og B ardurd
11, wev florrad vl DN B} oerel?
(A) 23 er@ 1846 AB) 3erg 1856 &) 23 argd 1866 @) Deargd 1876
2. "33 ook 6 cbrdD QAL drd ab medair” gy YOS o sdecr?
(&) wododed B cowdy IFE () K(.ad 1) OLS Sogd e
' Forgad '
13, 50 2008 Bryone 83) SHAS' Fird LADH D30 Hod PIWE o, JEWD D0 Wod 2
ood Q'Xw Doodd?
A 32 A 33 . € 1y %5
. e OB D DA Doy o0ed?
WW@g atrdE  (H] trerod cirhé / b‘§§ m@ o R)P.Af-\%{.‘.é aarrads
15, “Paved HE b Redair” o JB6D volrdr? Q
() Doum Bob | (B) Eoab boh ' ik (1) dwirodt hoh
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